20

What is accelerated, retarded or relative motion? Explain the mecha-
nical powers? Show by a diagram the effect that the attraction of &
distant body would have on the motion of a smaller one revolving round
a larger ?

Arithmetic. Explain the method of making compound interest tables.
What is the logarithm of 675846327 What number corresponds to

R —
[GD" T =288
'V U+ i+ 4
Change 9¢f84¢2 in the duodecimal scale to the other scales from the
binary to the undinary inclusive. Algebra: let a == the first term, d =
the common difference, r = the ratio, /= the last term, n = the number

of terms, and s = the sum of a series j—find the principal formule in
geometrical and arithmetical progression ?

4752386 ; /52826 j 25847
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Find z.

:2 + za = 7156, Find 2.
2% — 2 2* = a. Find z.
2 4 27y =284
3zy-—2y*=056.
Find z and y.
3(z*—42+46)" 4 4 (2* =424 6)=407. Findz
2% e y? = 3, and (24 4 y*)? 4 2° y* (2 —y*)" 4 2 —y* = 328.
To find z and y.
Find by French’s theorem the co-efficients of (2 = 4 3 y)°.
The prize in mensuration will be given by a gentleman who will pro-
pose the questions himself on the day of examination,
I give one from my papers. The radius of a circle is 256 yards: what

is the difference between § of the inscribed square and one of the
segments cut off by it ?

I hope, my Lord and Gentlemen, that you will agree with me in say-
ing the progress made by my pupils is satisfactory.
From one of the Society’s oldest Teachers :
LACADIE,

Sm,~I must say that the last half of this year the school has
been well attended (save the harvest months) particularly by the
children who are preparing for Confirmation. I have thirteen from



